

EQUIVALENCE OF RIESZ METHODS OF SUMMABILITY

D. BORWEIN AND F. P. CASS

Suppose throughout that $\lambda = \{\lambda_n\}$ is an unbounded strictly increasing sequence with $\lambda_0 = 0$, that p is a non-negative integer, that $0 < \delta \leq 1$, that $\kappa \geq 0$, and that $\sum_{v=0}^{\infty} a_v$ is a series of real numbers.

The series $\sum_{v=0}^{\infty} a_v$ is said to be summable by the Riesz method (R, λ, κ) to s if

$$\sum_{\lambda_v < \omega} \left(1 - \frac{\lambda_v}{\omega}\right)^{\kappa} a_v \rightarrow s \quad \text{as } \omega \rightarrow \infty.$$

A summability method Q is said to include a method P , and we write $P \subseteq Q$, if every series summable P to s is necessarily summable Q to s . The methods are said to be equivalent, and we write $P \sim Q$, if $P \subseteq Q$ and $Q \subseteq P$.

It is familiar that

$$(R, \lambda, \alpha) \subseteq (R, \lambda, \beta) \quad (0 \leq \alpha \leq \beta). \tag{1}$$

See [3; Theorem 16].

Our object is to prove the following theorem.

THEOREM. *If $\kappa > p$, then a necessary and sufficient condition for $(R, \lambda, \kappa) \sim (R, \lambda, p)$ is*

$$\liminf_{n \rightarrow \infty} \frac{\lambda_{n+p+1}}{\lambda_n} > 1. \tag{2}$$

The case $p = 0$ of the above theorem is known; see [4] for full references.

The following lemma is essentially part of a theorem we established elsewhere [1; Theorem 5]. A proof is given here for completeness.

LEMMA. *Suppose that $a_{n, \nu} \geq 0$ and that*

$$t_n = \sum_{\nu=0}^{\infty} a_{n, \nu} s_{\nu}$$

tends to zero if and only if s_n tends to zero. Then

$$\liminf_{\nu \rightarrow \infty} \max_{n \geq 0} a_{n, \nu} > 0.$$

Proof. The hypotheses imply that $\lim_{n \rightarrow \infty} a_{n, \nu} = 0$ for $\nu = 0, 1, 2, \dots$, and that $\sup_{n \geq 0} \sum_{\nu=0}^{\infty} a_{n, \nu} < \infty$.

Let $\mu_{\nu} = \max_{n \geq 0} a_{n, \nu}$ and assume that $\liminf \mu_{\nu} = 0$. There is an increasing sequence of integers $\{k_i\}$ such that

$$\mu_{k_i} < 2^{-i}.$$

Received 14 October, 1974; revised 14 January, 1975.

Define a divergent sequence $\{s_\nu\}$ by setting $s_\nu = 1$ if $\nu = k_i$ and $s_\nu = 0$ otherwise. The corresponding t_n tends to zero since for each integer m we have

$$t_n = \sum_{i=0}^{\infty} a_{n, k_i} \leq \sum_{i=0}^m a_{n, k_i} + \sum_{i=m+1}^{\infty} 2^{-i}.$$

We now introduce some notation and state a definition of generalised Cesàro summability given by Bosanquet and Russell [2].

Let

$$h(\omega, \nu) = (\lambda_{\nu+p+1} - \lambda_\nu) D^{p+1}(\omega - \lambda_\nu)^{p+\delta} \quad (\nu \leq n, \lambda_{n+p+1} \leq \omega),$$

where D^{p+1} is a divided difference operator defined inductively by

$$D^0 b_\nu = b_\nu, \quad D^{m+1} b_\nu = \frac{D^m b_\nu - D^m b_{\nu+1}}{\lambda_{\nu+m+1} - \lambda_\nu} \quad (m = 0, 1, \dots).$$

Let

$$C_n^0 = \sum_{\nu=0}^n a_\nu, \quad C_n^{m+1} = \sum_{\nu=0}^n (\lambda_{n+1} - \lambda_\nu) \dots (\lambda_{n+m+1} - \lambda_\nu) a_\nu \quad (m = 0, 1, \dots)$$

and let

$$C_n^{p+\delta} = \sum_{\nu=0}^n h(\lambda_{n+p+1}, \nu) C_\nu^p.$$

The definition of $C_n^{p+\delta}$ is unambiguous in the case $\delta = 1$, since (see [2] or [5])

$$C_n^{p+1} = \sum_{\nu=0}^n (\lambda_{\nu+p+1} - \lambda_\nu) C_\nu^p. \quad (3)$$

Let

$$t_n^\kappa = \frac{C_n^\kappa}{E_n^\kappa},$$

where E_n^κ is the value of C_n^κ obtained from the series with $a_0 = 1, a_\nu = 0$ ($\nu > 0$), i.e.,

$$E_n^0 = 1, \quad E_n^{m+1} = \lambda_{n+1} \dots \lambda_{n+m+1} \quad (m = 0, 1, \dots),$$

$$E_n^{p+\delta} = \sum_{\nu=0}^n h(\lambda_{n+p+1}, \nu) E_\nu^p.$$

The series $\sum_{\nu=0}^{\infty} a_\nu$ is said to be summable by the generalised Cesàro method $(\mathcal{C}^*, \lambda, \kappa)$ to s if $t_n^\kappa \rightarrow s$ as $n \rightarrow \infty$.

We require the following results established by Bosanquet and Russell [2].

$$(R, \lambda, \kappa) \sim (\mathcal{C}^*, \lambda, \kappa); \quad (4)$$

$$0 < h(\lambda_{n+p+1}, \nu) \leq h(\lambda_{\nu+p+1}, \nu) \quad (5)$$

$$\leq \binom{p+\delta}{p} (\lambda_{\nu+p+1} - \lambda_\nu)^\delta \quad (0 \leq \nu \leq n)$$

[2; Lemma 2];

$$E_n^{p+\delta} \geq \binom{p+\delta}{p+1} E_n^p \lambda_{n+p+1}^\delta \quad [2; Lemma 3]. \quad (6)$$

Proof of the Theorem.

Sufficiency. In view of (1), and the fact that $\lambda_{n+p+1}/\lambda_n$ increases with p , it is enough to show that condition (2) implies $(\mathcal{C}^*, \lambda, p+1) \subseteq (\mathcal{C}^*, \lambda, p)$. By (3), we have that

$$t_n^{p+1} - t_{n-1}^{p+1} \frac{\lambda_n}{\lambda_{n+p+1}} = t_n^p \left(1 - \frac{\lambda_n}{\lambda_{n+p+1}}\right).$$

It follows that condition (2) implies that $t_n^p \rightarrow s$ whenever $t_n^{p+1} \rightarrow s$, and hence that $(\mathcal{C}^*, \lambda, p+1) \subseteq (\mathcal{C}^*, \lambda, p)$.

Necessity. Define $A = \{a_{n, \nu}\}$ to be the matrix such that

$$t_n^{p+\delta} = \sum_{\nu=0}^n a_{n, \nu} t_n^p, \quad (7)$$

so that $a_{n, \nu} = h(\lambda_{n+p+1}, \nu) E_\nu^p / E_n^{p+\delta}$ for $0 \leq \nu \leq n$, and $a_{n, \nu} = 0$ for $\nu > n$.

By (5) and (6) we have, for $0 \leq \nu \leq n$,

$$0 < h(\lambda_{n+p+1}, \nu) \leq h(\lambda_{\nu+p+1}, \nu) \leq \binom{p+\delta}{p} (\lambda_{\nu+p+1} - \lambda_\nu)^\delta$$

and

$$E_n^{p+\delta} \geq E_n^p \lambda_{n+p+1}^\delta \binom{p+\delta}{p+1} \geq E_\nu^p \lambda_{\nu+p+1}^\delta \binom{p+\delta}{p+1};$$

and therefore

$$0 \leq a_{n, \nu} \leq \frac{p+1}{\delta} \left(1 - \frac{\lambda_\nu}{\lambda_{\nu+p+1}}\right)^\delta \quad (0 \leq \nu \leq n). \quad (8)$$

Suppose now that

$$(R, \lambda, p+\delta) \sim (R, \lambda, p). \quad (9)$$

Then, by (4) and (7), the summability method associated with the matrix A is equivalent to convergence, and hence, by the lemma,

$$\liminf_{\nu \rightarrow \infty} \max_{n \geq 0} a_{n, \nu} > 0. \quad (10)$$

It follows from (8) and (10) that

$$\liminf_{\nu \rightarrow \infty} \left(1 - \frac{\lambda_\nu}{\lambda_{\nu+p+1}}\right)^\delta > 0,$$

and hence that

$$\liminf_{n \rightarrow \infty} \frac{\lambda_{n+p+1}}{\lambda_n} > 1.$$

We have thus shown that (9) implies (2) and, in view of (1), the proof is complete.

Remark. Let p, q be integers with $p > q \geq 0$, and let the sequence $\lambda = \{\lambda_n\}$ be such that

$$\liminf_{n \rightarrow \infty} \frac{\lambda_{n+p+1}}{\lambda_n} > 1 \quad \text{and} \quad \liminf_{n \rightarrow \infty} \frac{\lambda_{n+p}}{\lambda_n} = 1.$$

Then, using the above theorem, we find that $(R, \lambda, \alpha) \sim (R, \lambda, p)$ whenever $\alpha > p$, but $(R, \lambda, \beta) \not\sim (R, \lambda, q)$ whenever $\beta > q$. An example of such a sequence is given by

$$\lambda_n = 2^m + r \quad \text{for } n = m(p+1) + r \quad \text{and } 0 \leq r \leq p.$$

References

1. D. Borwein and F. P. Cass, "Strict inclusion between strong and ordinary methods of summability", *J. Reine Angew. Math.*, 267 (1974), 166-174.
2. L. S. Bosanquet and D. C. Russell, "A matrix method equivalent to the Riesz typical means", *Proc. London Math. Soc.*, (3), 32 (1976), 560-576.
3. G. H. Hardy and M. Riesz, "The general theory of Dirichlet's series", *Cambridge Tract No. 18*, (1915).
4. B. Kuttner, "On discontinuous Riesz means of order 2", *J. London Math. Soc.*, 40 (1965), 332-337.
5. D. C. Russell, "On generalised Cesàro means of integral order", *Tôhoku Math. J.*, 17 (1965), 410-442; *Corrigenda, ibid*, 18 (1966), 454-455.

The University of Western Ontario,
London, Ontario,
Canada N6A 5B9.